District School Board of Pasco County Bid Recommendation

Bid Title	Health Supplies - Warehouse Stock	Number of Vendors Notified	130
Bid Number	09-013-SN	Number of Bids Distributed	25
Date Solicited	February 5, 2008	Number of Vendors Bidding	18
Date Opened	February 27, 2008	Number of Vendors Not Bidding	7
Date Board Presentation	April 22, 2008	Funding Source	Asset
Total Savings	\$5,199.28	Grand Total of Bid	\$10,803.00

<u>Recommendation</u>: Recommend acceptance of bids as noted on attached bid tabulation sheet as lowest and best responsive, responsible bids meeting written specifications.

<u>Term of Contract</u>: This bid is for the annual purchase of health supplies for warehouse stock for delivery and distribution throughout the District.

<u>Notations and Exceptions</u> Item #HS-019: Recommend rejection of lower bids from ALLMed and Moore Medical. They have requested their bids be withdrawn due to a pricing error on their part. Recommend rejection of next low bid for being too flimsy and subject to spill-overs. Recommend acceptance of next low bid from Gulf Coast Select Medical.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Lisa Kern, Acting Nursing Supervisor

<u>Bids Prepared By</u>: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

Date/Time: April 15, 2008 11:05:00

			Abel Unlimited	Inc.	Allmed		American Medi	
	BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	2020 Seabird V	Vay	PO Box 147		4380 NW 135	th Street
		BID #: 09-013-GF	Riviera Beach, F	L 33404	Russellville, MO 6	5074	Opa-locka, FL 3	33054
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	2,000	VINYL GLOVES (LARGE) (2,000 BOXES)	\$2.17	\$4,340.00	\$4.42	\$8,840.00	\$2.73	\$5,460.00
		Manufacturer:	Ironwear		Dynarex	·	Inovative Her	
		Product Number	4670		6824		119300	
		Qty. per box	100 per box		100 per box		100 per box	
HS-06	50	NAPKINS, SANITARY (50 CASES)	NB	NB	NB	NB	\$36.14	\$1,807.00
		Manufacturer:					Dade Paper	
		Product Number					164020	
		Qty. per box					250 per case	
HS-11	200	GAUZE SQUARES (200 BOXES)	NB	NB	\$5.25	\$1,015.00	\$1.66	\$332.00
		Manufacturer:			Dynarex		Starline	
		Product Number			3233		155332	
		Qty. per box			200 per bag		200 per box	
HS-15	300	THERMOMETER, DIGITAL (300 EACH)	NB	NB	\$4.10	\$1,230.00	\$3.93	\$1,179.00
		Manufacturer:			Mabio		ADC	
		Product Number			15-3732-000		10420410	
		Qty. per box			each		each	
HS-17	500	ELASTIC ROLLER GAUZE BANDAGES (500 CASES	NB	NB	\$2.61	\$1,305.00	\$3.43	\$1,715.00
		Manufacturer:			Dynarex		Hartmann	
		Product Number			3112		81200000	
		Qty. per box			12 per package			
HS-19	75	CUPS, MEDICINE (75 CASES)	NB	NB	\$10.00	\$750.00	\$60.00	\$4,500.00
		Manufacturer:			Dynarex		Medegen	
		Product Number			4252		02301	
		Qty. per box			5000 per case		100/case 50	boxes

	DATE O	F OPENING: FEBRUARY 27, 2008 2:30 PM	Abel Unlimited	Inc.	Allmed		American Medi	cal Depot
	BID TIT	LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	2020 Seabird V	Way	PO Box 147		4380 NW 135	th Street
		BID #: 09-013-GF	Riviera Beach, I	FL 33404	Russellville, MO	65074	Opa-locka, FL	33054
	OTV	DECODIDITION						TOTAL DDIOS
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-24	100	GAUZE, SQUARES 2" X 2" (100 BOXES)	NB	NB	\$2.50	\$250.00	\$1.09	\$109.00
		Manufacturer:			Dynarex		Amdritmed	
		Product Number			3223		A7632	
		Qty. per box			200 per bag		200 per box	
HS-26	100	GAUZE, SQUARES 3" X 3" (100 BOXES)	NB	NB	\$11.50	\$1,150.00	\$1.66	\$166.00
		Manufacturer:			Dynarex		Starline	
		Product Number			3333		155332	
		Qty. per box			50 per tr		200 per box	
HS-31	100	ACE BANDAGES 2" (100 BOXES)	NB	NB	\$3.00	\$300.00	\$8.52	\$852.00
		Manufacturer:			Dynarex		Medline	
		Product Number			3662		MDSD55002	
-		Qty. per box			each		10 boxes	
							5 boxes/case	
HS-32	100	ACE BANDAGES 3" (100 BOXES)	NB	NB	\$4.32	\$432.00	\$10.67	\$1,067.00
		Manufacturer:			Dynarex		Medline	
		Product Number			3663		MDSD055003	
		Qty. per box			each		10 boxes	
							5 boxes/case	
HS-33	25	ACE BANDAGES 4" (25 BOXES)	NB	NB	\$5.64	\$141.00	\$13.63	\$340.75
		Manufacturer:			Dynarex		Medline	
		Product Number			3664		MDSD055004	
		Qty. per box			each		10 boxes	

	DATE OF	OPENING: FEBRUARY 27, 2008 2:30 PM	Dash Medical Glov	ves, Inc.	Everready First	Aid & Medical	Genesis II, Inc.	
	BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	10180 S. 54th St	treet	101-01 Foster	Ave.	PO Box 11226	
		BID #: 09-013-GF	Franklin, WI 5313	2	Brooklyn, NY 11	236	Rockhill, SC 297	'31-1226
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	2,000	VINYL GLOVES (LARGE) (2,000 BOXES)	\$2.89	\$5,780.00	\$3.36	\$6,720.00	\$2.71	\$5,420.00
	2,000	Manufacturer:	Dash Medical	40,100100	Dynarex	<i>40,120100</i>	Americare	
		Product Number	SBF100L		2603		400	
		Qty. per box	100 gloves / box		100 per box		100 per box	
HS-06	50	NAPKINS, SANITARY (50 CASES)	NB	NB	NB	NB	\$25.49	\$1,274.50
		Manufacturer:					Hospital Spec.	
		Product Number					147A	
		Qty. per box					250	
HS-11	200	GAUZE SQUARES (200 BOXES)	NB	NB	\$1.95	\$390.00	NB	NB
		Manufacturer:			Dynarex			
		Product Number			3233			
		Qty. per box			200 per box			
HS-15	300	THERMOMETER, DIGITAL (300 EACH)	NB	NB	\$1.72	\$516.00	NB	NB
		Manufacturer:			ER			
		Product Number			103750			
		Qty. per box			each			
HS-17	500	ELASTIC ROLLER GAUZE BANDAGES (500 CASES	NB	NB	\$2.54	\$1,270.00	NB	NB
		Manufacturer:			Dynarex			
		Product Number			3112			
		Qty. per box			12 per box			
HS-19	75	CUPS, MEDICINE (75 CASES)	NB	NB	\$38.36	\$2,877.00	NB	NB
		Manufacturer:			Dynarex			
		Product Number			4252			
		Qty. per box			5,000 per case			

	DATE O	F OPENING: FEBRUARY 27, 2008 2:30 PM	Dash Medical Glo	oves. Inc.	Everready First	Aid & Medical	Genesis II. Inc.	
		LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	10180 S. 54th S		101-01 Foster		PO Box 11226	
		BID #: 09-013-GF	Franklin, WI 531		Brooklyn, NY 1		Rockhill, SC 297	731-1226
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	2.1				ONTITUOE	TOTALTRICE		TOTAL TRICE
HS-24	100	GAUZE, SQUARES 2" X 2" (100 BOXES)	NB	NB	\$1.20	\$120.00	NB	NB
		Manufacturer:			Dynarex			
		Product Number			3223			
		Qty. per box			200 per box			
HS-26	100	GAUZE, SQUARES 3" X 3" (100 BOXES)	NB	NB	\$1.36	\$136.00	NB	NB
		Manufacturer:			Dynarex			
		Product Number			3333			
		Qty. per box			50 per box**			
HS-31	100	ACE BANDAGES 2" (100 BOXES)	NB	NB	\$2.80	\$280.00	NB	NB
		Manufacturer:			ER			
		Product Number			0300028			
		Qty. per box			10 per box			
HS-32	100	ACE BANDAGES 3" (100 BOXES)	NB	NB	\$3.70	\$370.00	NB	NB
		Manufacturer:			ER			
		Product Number			0300029			
		Qty. per box			10 per box			
HS-33	25	ACE BANDAGES 4" (25 BOXES)	NB	NB	\$4.80	\$480.00	NB	NB
	-	Manufacturer:			ER			
		Product Number			0300030			
		Qty. per box			10 per box			

	DATE OF	OPENING: FEBRUARY 27, 2008 2:30 PM	Gulf South Medi	cal Supply, Inc.	Henry Schein		Kentron Hea	Ithcare Inc.
	BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	4345 South Poi		135 Duryea Rd, Ma	il Route E-255	PO Box 120	
		BID #: 09-013-GF	Jacksonville, FL	32216	Melville, NY 11747		Springfield,	FN 37172
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	2,000	VINYL GLOVES (LARGE) (2,000 BOXES)	NB	NB	\$2.59	\$5,180.00	NB	NB
		Manufacturer:				· · ·		
		Product Number			1025332			
		Qty. per box			100 gloves/box			
HS-06	50	NAPKINS, SANITARY (50 CASES)	\$39.88	\$1,994.00	\$47.99	\$2,399.50	NB	NB
		Manufacturer:	Hospital Special	ty	Hospital Specialty			
		Product Number	147A		7036054			
		Qty. per box	250		250 per case			
HS-11	200	GAUZE SQUARES (200 BOXES)	\$2.08	\$416.00	\$2.19	\$438.00	\$1.50	\$300.00
		Manufacturer:	Select Medical				Kentron	
		Product Number	100332		1005004		331211	
		Qty. per box	200/bag				200/pk	
HS-15	300	THERMOMETER, DIGITAL (300 EACH)	\$4.04	\$1,212.00	\$2.29	\$687.00	NB	NB
		Manufacturer:	Select Medical					
		Product Number	585		1514145			
		Qty. per box	300 each		1 w/5 probe cover	S		
HS-17	500	ELASTIC ROLLER GAUZE BANDAGES (500 CASES	\$18.87	\$9,435.00	\$2.58	\$1,290.00	\$2.10	\$1,050.00
		Manufacturer:	Select Medical				Kentron	
		Product Number	017		1042739		441002	
		Qty. per box	12/bag				12/box	
HS-19	75	CUPS, MEDICINE (75 CASES)	\$30.16	\$2,262.00	\$31.49	\$2,361.75	\$37.00	\$2,775.00
		Manufacturer:	Select Medical				Dynarex	
		Product Number	12145		1000580		884252	
		Qty. per box	50 pk./case		50 per case		100/sl	

	DATE C	F OPENING: FEBRUARY 27, 2008 2:30 PM	Gulf South Medi	cal Supply, Inc.	Henry Schein		Kentron Hea	Ithcare Inc.
		LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	4345 South Poi		135 Duryea Rd, M	ail Route E-255		
		BID #: 09-013-GF	Jacksonville, FL		Melville, NY 1174		Springfield,	
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-24	100	GAUZE, SQUARES 2" X 2" (100 BOXES)	\$1.09	\$109.00	\$1.04	\$104.00	\$0.75	\$75.00
		Manufacturer:	Select Medical				Kentron	
		Product Number	2212		1001570		221211	
		Qty. per box	200/bag		200		200/pk	
HS-26	100	GAUZE, SQUARES 3" X 3" (100 BOXES)	\$2.43	\$243.00	\$3.58	\$358.00	\$2.50	\$250.00
		Manufacturer:	Select Medical	-			Kentron	
		Product Number	186		1003963		331201	
		Qty. per box	50 pk./box		100		100/box	
HS-31	100	ACE BANDAGES 2" (100 BOXES)	\$3.00	\$300.00	\$2.96	\$296.00	\$3.00	\$300.00
		Manufacturer:	Select Medical				Kentron	
		Product Number	052		1047563		660622	
		Qty. per box	10 rl/bx		10 per box		10	
HS-32	100	ACE BANDAGES 3" (100 BOXES)	\$3.91	\$391.00	\$3.85	\$385.00	\$3.50	\$350.00
		Manufacturer:	Select Medical				Kentron	
		Product Number	053		1047565		660623	
		Qty. per box	10 rl/bx		10 per box		10	
HS-33	25	ACE BANDAGES 4" (25 BOXES)	\$5.11	\$127.75	\$4.84	\$121.00	\$4.50	\$112.50
		Manufacturer:	Select Medical	<i></i>	\$ 110 1	<i></i>	Kentron	* *** 2 100
		Product Number	054		1047575		660624	
		Qty. per box	10 rl/bx		10 per box		10	

	DATE OF	OPENING: FEBRUARY 27, 2008 2:30 PM	Medco Supply, li	nc.	Medline Industri	es, Inc.	Moore Medical,	LLC
	BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	500 Fillmore Av	e.	One Medline Pla	се	1690 New Brita	ain Ave.
		BID #: 09-013-GF	Tonawanda, NY	14150	Mudelein, IL 600	060	Farminton, CT (06032-3112
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	2,000	VINYL GLOVES (LARGE) (2,000 BOXES)	\$2.98	\$5,960.00	\$4.00	\$8,000.00	\$2.40	\$4,800.00
115-01	2,000	Manufacturer:	Basic	\$3,300.00	Medline	\$0,000.00	Cypress	\$7,000.00
		Product Number	18709M		MDS1920764		77110	
		Qty. per box	100		100		100	
HS-06	50	NAPKINS, SANITARY (50 CASES)	\$30.12	\$1,506.00	\$48.06	\$2,403.00	\$27.32	\$1,366.00
H2-00	50	Manufacturer:	Maxithin	\$1,506.00	Medline	\$2,405.00	Unisource	\$1,300.00
		Product Number Qty. per box	57013M 250		NCN241278 250		65595 250	
HS-11	200	GAUZE SQUARES (200 BOXES)	\$1.70	\$340.00	\$2.50	\$500.00	\$1.60	\$800.00
		Manufacturer:	Dukal		Medline		Dukal	
		Product Number	33625M		PRM21312CZ		12277	
		Qty. per box	200		200		200	
HS-15	300	THERMOMETER, DIGITAL (300 EACH)	\$2.58	\$774.00	\$3.67	\$1,101.00	\$2.67	\$801.00
		Manufacturer:	Mabis		Medline		Mabis	
		Product Number	15605M		MDS9650		64635	
		Qty. per box	each				1	
HS-17	500	ELASTIC ROLLER GAUZE BANDAGES (500 CASES	NB	NB	\$30.00	\$15,000.00	\$2.53	\$1,265.00
		Manufacturer:			Medline	\$10,000100	Dukal	<i><i><i>ϕ</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i></i></i>
		Product Number			NCN27496		73983	
		Qty. per box			96/case		12	
HS-19	75	CUPS, MEDICINE (75 CASES)	\$39.41	\$2,955.75	\$28.00	\$2,100.00	\$0.57	\$2,137.50
	-	Manufacturer:	Sofco	. ,	Medline	. ,	Cypress	. ,
		Product Number	39003M		DYND80000H		81772	
		Qty. per box	5000		5000		5000	

	DATE O	F OPENING: FEBRUARY 27, 2008 2:30 PM	Medco Supply, II	nc	Medline Industri	es Inc.	Moore Medical,	
		LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	500 Fillmore Av		One Medline Pla		1690 New Brita	
		BID #: 09-013-GF	Tonawanda, NY		Mudelein, IL 600		Farminton, CT (
					,			
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-24	100	GAUZE, SQUARES 2" X 2" (100 BOXES)	\$0.88	\$88.00	\$1.70	\$170.00	\$0.82	\$205.00
		Manufacturer:	Dukal		Medline		Dukal	
		Product Number	33624M		NCN25212H		12276	
		Qty. per box	200		200		200	
HS-26	100	GAUZE, SQUARES 3" X 3" (100 BOXES)	\$2.82	\$282.00	\$2.50	\$250.00	\$2.65	\$265.00
110 20	100	Manufacturer:	Dukal	<i>\\L0L.00</i>	Medline	\$230.00	Dukal	φ205.00
		Product Number	35260		PRM21312CZ		8251	
		Qty. per box	100		200		100	
HS-31	100	ACE BANDAGES 2" (100 BOXES)	\$2.77	\$277.00	\$7.01	\$701.00	\$0.24	\$288.00
		Manufacturer:	Dynarex		Medline		Cypress	
		Product Number	260149		MDS046002ZZ		83637	
		Qty. per box	10		10		each	
HS-32	100	ACE BANDAGES 3" (100 BOXES)	\$3.92	\$392.00	\$8.67	\$867.00	\$0.35	\$420.00
113-32	100	Manufacturer:	Dynarex	\$352.00	Medline	\$007.00	Cypress	\$420.00
		Product Number	260150		MDS046003ZZ		83638	
		Qty. per box	10		10		each	
HS-33	25	ACE BANDAGES 4" (25 BOXES)	\$5.00	\$125.00	\$11.95	\$298.75	\$0.40	\$120.00
		Manufacturer:	Dynarex		Medline		Cypress	
		Product Number	260151		MDS046004ZZ		83639	
		Qty. per box	10		10		each	

	DATE OF	OPENING: FEBRUARY 27, 2008 2:30 PM	Resource One	e, Inc.	School Kids H	lealth Care	Supreme Medica	al
	BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	1202 N. Mag	onlia Ave.	1711 Paramo	ount Court	PO Box 850247	7
		BID #: 09-013-GF	Ocala, FL 34	475	Waukesha, W	1 53186	Mobile, AL 366	85
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	2,000	VINYL GLOVES (LARGE) (2,000 BOXES)	\$2.85	\$5,700.00	\$3.28	\$6,560.00	\$2.71	\$5,420.00
	,	Manufacturer:	Volk	<i>40,100100</i>	Dynarex	40,000.00	Dynarex	+0,120100
		Product Number	81079L		SVG100L		2603	
		Qty. per box	100		100		100	
HS-06	50	NAPKINS, SANITARY (50 CASES)	\$27.50	\$1,375.00	NB	NB	\$32.47	\$1,623.50
		Manufacturer:	Hospeco	,			Hospeco	
		Product Number	26-1628				147A	
		Qty. per box	250				250	
HS-11	200	GAUZE SQUARES (200 BOXES)	NB	NB	\$1.50	\$300.00	\$1.57	\$314.00
		Manufacturer:			Dynarex		Dynarex	
		Product Number			3233		3233	
		Qty. per box			200		200	
HS-15	300	THERMOMETER, DIGITAL (300 EACH)	NB	NB	\$3.31	\$993.00	\$2.34	\$702.00
		Manufacturer:			Mabis		Mabis	
		Product Number			15600		15-681-000	
		Qty. per box			each		each	
HS-17	500	ELASTIC ROLLER GAUZE BANDAGES (500 CASES	NB	NB	\$2.57	\$1,285.00	\$2.49	\$1,245.00
		Manufacturer:			Dukal		Dynarex	
		Product Number			D702		3112	
		Qty. per box			12		12	
HS-19	75	CUPS, MEDICINE (75 CASES)	NB	NB	\$42.50	\$3,187.50	\$37.33	\$2,799.75
		Manufacturer:			Medline		Dynarex	
		Product Number			D80000		4252	
		Qty. per box			5000		50x100	

	DATE O	OF OPENING: FEBRUARY 27, 2008 2:30 PM	Resource One	e Inc.	School Kids H	lealth Care	Supreme Medic	al
		LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	1202 N. Mag		1711 Paramo		PO Box 85024	
		BID #: 09-013-GF	Ocala, FL 34		Waukesha, W		Mobile, AL 36	
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-24	100	GAUZE, SQUARES 2" X 2" (100 BOXES)	NB	NB	\$0.86	\$86.00	\$0.896	\$89.60
		Manufacturer:			Dynarex		Dynarex	
		Product Number			3223		3223	
		Qty. per box			200		200	
HS-26	100	GAUZE, SQUARES 3" X 3" (100 BOXES)	NB	NB	\$2.74	\$274.00	\$2.65	\$265.00
		Manufacturer:			Dynarex		Dynarex	-
		Product Number			3353		3353	
		Qty. per box			100		100	
HS-31	100	ACE BANDAGES 2" (100 BOXES)	NB	NB	\$2.90	\$290.00	\$3.33	\$333.00
		Manufacturer:			Dynarex		Dynarex	
		Product Number			0620		3662	
		Qty. per box			10		10	
HS-32	100	ACE BANDAGES 3" (100 BOXES)	NB	NB	\$4.10	\$410.00	\$4.70	\$470.00
		Manufacturer:			Dynarex		Dynarex	
		Product Number			0630		3663	
		Qty. per box			10			
HS-33	25	ACE BANDAGES 4" (25 BOXES)	NB	NB	\$5.20	\$130.00	\$5.88	\$147.00
		Manufacturer:			Dynarex		Dynarex	
		Product Number			0640		3664	
		Qty. per box			10		10	

		OPENING: FEBRUARY 27, 2008 2:30 PM	Suncoast Surgic	al & Medical Supp	Tronex Com	bany	Young PS Acqu	uisitions
	BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	6089 Johns Roa	ad, Suite 9	2 Cranberry	road	DBA Plak Smac	cker
		BID #: 09-013-GF	Tampa, FL 336	34	Parsippany, I	NJ 07054	755 Trademar	k Circle
		DESCRIPTION UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL VINYL GLOVES (LARGE) (2,000 BOXES) NB NB \$2.74 \$5,			Cornona, CA 9	2879		
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	2,000		NB	NB	\$2.74	\$5,480.00	\$3.95	\$7,900.00
115 01	2,000	Manufacturer:			Tronex	\$3,400.00	Plak Smacker	\$7,500.00
		Product Number			8030		21522-25	
		Qty. per box			100		100	
HS-06	50	NAPKINS, SANITARY (50 CASES)	NB	NB	NB	NB	NB	NB
		Manufacturer:						
		Product Number						
		Qty. per box						
HS-11	200	GAUZE SQUARES (200 BOXES)	\$1.48	\$296.00	NB	NB	NB	NB
		Manufacturer:	Abco					
		Product Number	052122					
		Qty. per box	200					
HS-15	300	THERMOMETER, DIGITAL (300 EACH)	NB	NB	NB	NB	NB	NB
H2-12	500	Manufacturer:	IND	IND	IND	IND	IND	IND
		Product Number						
		Qty. per box						
HS-17	500	ELASTIC ROLLER GAUZE BANDAGES (500 CASES		\$1,245.00	NB	NB	NB	NB
		Manufacturer:	Dyx					
		Product Number	3112					
		Qty. per box	12					
HS-19	75	CUPS, MEDICINE (75 CASES)	NB	NB	NB	NB	NB	NB
-		Manufacturer:						
		Product Number						
		Qty. per box						
	1							

		DF OPENING: FEBRUARY 27, 2008 2:30 PM	Suncoast Surgical & Medical Supp				Young PS Acquisitions	
BID TITLE: HEALTH SUPPLIES - WAREHOUSE DEPT. BID #: 09-013-GF			6089 Johns Road, Suite 9 Tampa, FL 33634		2 Cranberry road Parsippany, NJ 07054		DBA Plak Smacker 755 Trademark Circle	
ITEM #	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-24	100	GAUZE, SQUARES 2" X 2" (100 BOXES)	\$0.84	\$84.00	NB	NB	NB	NB
		Manufacturer:	Abco					
		Product Number	052113					
		Qty. per box	200					
HS-26	100	GAUZE, SQUARES 3" X 3" (100 BOXES)	NB	NB	NB	NB	NB	NB
		Manufacturer:						
		Product Number						
		Qty. per box						
HS-31	100	ACE BANDAGES 2" (100 BOXES)	\$2.85	\$285.00	NB	NB	NB	NB
		Manufacturer:	Dyx					
		Product Number	3662					
		Qty. per box	10					
HS-32	100	ACE BANDAGES 3" (100 BOXES)	\$3.92	\$392.00	NB	NB	NB	NB
		Manufacturer:	Dyx					
		Product Number	3663					
		Qty. per box	10					
HS-33	25	ACE BANDAGES 4" (25 BOXES)	\$4.96	\$124.00	NB	NB	NB	NB
		Manufacturer:	Dyx					
		Product Number	3664					
		Qty. per box	10					